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1. [bookmark: _Toc122434485][bookmark: _Toc88829356]Overview
This document lists all the changes needed to correct issues in the ATS iWD-TTCN3-B2020-09_D21wk37 related to the title of this CR.
Contact:	Shaun Harry
	shaun.harry@keysight.com
1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc88829357]Corrections required
[bookmark: _Toc88829358]2.1 Change 1
	Function name
	function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0)

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.

	TTCN module
	DRX_MAC_TC_Common_NR.TTCN

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
 {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    const UInt_Type tsc_OnDurationTimer := 20; // in ms

/* Skipping code */

// The other things in Step 3 automatically taken care by SS
t_Watchdog.start;
v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
 v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };

/* Skipping Code*/

//@siclog "Step 5" siclog@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // Last PDCCH occasion while On Duration Timer is running.
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, (tsc_OnDurationTimer *v_SlotsInSubframe) - 1);
    // - the last slot during onDurationTimer
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));

    //@siclog "Step 7" siclog@
    // preconfig SS
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * v_SlotsInSubframe ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 7 automatically taken care by SS
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL)); //@sic R5s201481 sic@
    t_Watchdog.start;
/*Skipping Code */
    // step 9 and 11 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));}

/*skipping code */

// step 13 and 15 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(4, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(4, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

/*Skipping Code */
    //@siclog "Step 19" siclog@
    // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL:= { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));

/*Skipping Code */





After Change:
	function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
 {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    const UInt_Type tsc_OnDurationTimer := 20; // in ms
/* Skipping code */

var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6);//KS@21xxxx

/* Skipping code */

// The other things in Step 3 automatically taken care by SS
t_Watchdog.start;
v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
// v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
   v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx

/* Skipping Code*/

//@siclog "Step 5" siclog@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // Last PDCCH occasion while On Duration Timer is running.
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, (tsc_OnDurationTimer *v_SlotsInSubframe) - 1);
    // - the last slot during onDurationTimer
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   // v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));

    //@siclog "Step 7" siclog@
    // preconfig SS
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * v_SlotsInSubframe ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 7 automatically taken care by SS
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL)); //@sic R5s201481 sic@
    t_Watchdog.start;
/*Skipping Code */
    // step 9 and 11 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));}

/*skipping code */

// step 13 and 15 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(4, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(4, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

/*Skipping Code */
    //@siclog "Step 19" siclog@
    // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL:= { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL:= { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx 
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));

/*Skipping Code */

}







[bookmark: _Toc88829129][bookmark: _Toc88829359]2.2 Change 2
	Function name
	function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) 

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.

	TTCN module
	DRX_MAC_TC_Common_NR.TTCN

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14
/*Skipping code */

// step 3 and 7 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

/*Skipping Code */
}




After Change:
	function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14
/*Skipping code */
var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6);//KS@21xxxx

/*Skipping Code*/
// step 3 and 7 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

/*Skipping Code */
}



[bookmark: _Toc88829130][bookmark: _Toc88829360]2. 3 Change 3
	Function name
	function f_TC_7_1_1_5_3_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0)

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.

	TTCN module
	DRX_MAC_TC_Common_NR.TTCN

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_3_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
  {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_OnDurationTimer := 20; // in ms
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    
    var UInt_Type v_LongDRXCycle := 640; // in ms
    var UInt_Type v_ShortDRXCycle := 80; // in ms @sic R5s202609 sic@
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    

/*Skipping Code */
//@siclog "Step 3" siclog@
    t_Watchdog.start;
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    // Choose the next subframe when the onDurationTimer is started.

/Skipping Code */
/@siclog "Step 5" siclog@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_ShortDRXCycle, tsc_DrxStartOffset);

/*Skipping Code */
/@siclog "Step 7-8" siclog@
    // The f_NR_GetNextSendOccasion_7_1_1_5_X selects time 2 long cycles in advance hence drx-ShortCycleTimer  should have expired
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);

/Skipping Code */
}




After Change:
	function f_TC_7_1_1_5_3_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
  {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_OnDurationTimer := 20; // in ms
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    
    var UInt_Type v_LongDRXCycle := 640; // in ms
    var UInt_Type v_ShortDRXCycle := 80; // in ms @sic R5s202609 sic@
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6);//KS@21xxxx

/*Skipping Code */
//@siclog "Step 3" siclog@
    t_Watchdog.start;
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    // Choose the next subframe when the onDurationTimer is started.

/Skipping Code */
/@siclog "Step 5" siclog@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   // v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_ShortDRXCycle, tsc_DrxStartOffset);

/*Skipping Code */
/@siclog "Step 7-8" siclog@
    // The f_NR_GetNextSendOccasion_7_1_1_5_X selects time 2 long cycles in advance hence drx-ShortCycleTimer  should have expired
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);

/Skipping Code */
}



2.4 [bookmark: _Toc88829131][bookmark: _Toc88829361]Change 4
	Function name
	function f_TC_7_1_1_5_4_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0)

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.

	TTCN module
	DRX_MAC_TC_Common_NR.TTCN

	MCC160 Comment
	



Before Change:
	  function f_TC_7_1_1_5_4_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.4 : DRX Operation / Short cycle configured / DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@       

/*Skipping Code */

    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.05;
    timer t_Watchdog := 5.0;

/Skipping Code */
//@siclog "Step 3" siclog@
    //@sic R5s201437 R5-206123 sic@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200867 sic@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };    

/Skipping Code */
}




After Change:
	function f_TC_7_1_1_5_4_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.4 : DRX Operation / Short cycle configured / DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@       

/*Skipping Code */
var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6);//KS@21xxxx

    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.05;
    timer t_Watchdog := 5.0;

/Skipping Code */
//@siclog "Step 3" siclog@
    //@sic R5s201437 R5-206123 sic@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200867 sic@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
   // v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };    

/Skipping Code */
}



2.5 [bookmark: _Toc88829132][bookmark: _Toc88829362]Change 5
	Function name
	function f_TC_7_1_1_5_5_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0)

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.

	TTCN module
	DRX_MAC_TC_Common_NR.TTCN

	MCC160 Comment
	



Before Change:
	  function f_TC_7_1_1_5_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.5 : DRX Operation / Short cycle configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    //@sic R5s201495 sic@

/*Skipping Code */

    //@siclog "Step 3" siclog@
    //@sic R5s201495 R5-206319 sic@

    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal));
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };

/Skipping Code */

//@siclog "Step 9" siclog@
   v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
   v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };

/Skipping Code */

}




After Change:
	  function f_TC_7_1_1_5_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.5 : DRX Operation / Short cycle configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    //@sic R5s201495 sic@

/*Skipping Code */

var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6);//KS@21xxxx

/*Skipping Code */

    //@siclog "Step 3" siclog@
    //@sic R5s201495 R5-206319 sic@

    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal));
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };

/Skipping Code */

//@siclog "Step 9" siclog@
   v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
   //v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
   v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//KS@21xxxx
   v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };

/Skipping Code */

}




